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HISTORY OF THE WORLD (1500-1950)-I
(Semester—V)

Three Hours] [Maximum Marks : 75

Attempt two questions each from Section A & B carrying
12 marks each and the entire Section C carrying
27 marks.

SECTION—A
Write a detailed note on the Reformation. 12

Write a note on Napoleon. What were the causes of his
downfall? 12

Explain the rise of Nationalism with special reference to
the unification of Germany. 12

Describe the Congress of Vienna and its importance. 12
SECTION—B

What were the causes and the impact of the First World
War? 12
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VI. Write a note on rise of Nazism. 12

VII. What was the Chinese Revolution of 1949? 12
VIII. Write a detailed note on the creation of Israel. 12
SECTION—C

(Compulsory Question)

IX. It has 2 parts. Part Ist has 8 questions. Write brief note on

them. Part IInd has question on map :

(I) Describe in brief :
1. Social contract.
2. Garibaldi.
3. Economic Imperialism.
4. Bolshevik Revolution.
5. Cortfu Incident.
6. The Fourth May Movement.
7. Chinese Revolution.

8.  Fascism. &x2=16
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(I) Map Question :

Mark the places on map of Europe and give an

explanatory note :
1.  Vienna Congress.
OR

2. Europe in 1945. T+4=11
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PUNJABI VERSION

: 39 AMS B fed -7 YyAs &9 I9X YHAS ©

12 TS| 39T C AT 91 8 @ 27 »ix TS|

gTd—A

52-f6IHE  (Reformation) '3 fex femsfazs &z
fed | 12

dUmsnis '3 fex o fog| 8r <t fargee € &t J9s
A& ? 12

AIHo! € Sdldde & feRA I &% JHIISE &

839 &t fenrfunr 91 12

fenrar €1 FiargR w3 fer € HI33T T TS

Sl 12
FTI—B

ufg® ARG §O © &96 M3 yge of A? 12

sHlee @ 839 '3 fex &2 &y 12

1949 &t diat 3T ot A2 12
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VIl feagsts € ragus '3 fea fersfas ac f®dl

12

grd—C
@Fmt yrs)

X. fen e < ga g5 ufgd g1 feg 8 Yyrs I61 AT

391 feg sl '3 yAs I
() Huy feg T9ss a9 :
1. AHTAX AHS3TI
2. JITE®ST (Garibaldi).
3. nIfed AHIARE|
4. @wAfex FiF
5. JIg WeHE|
6. T9 HEI nEss|
7. diat g

8. THIEEI 8x2=16
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(1) &TH TH YA -

gou € &aH '3 AEST § wifas a9 »3 fex
fentfmmsfig a2 foy -
1. fenaT qIaH|
A7
2. 1945 feg gau| T+4=11
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